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Hiking is a great way to enjoy the fresh air and beauty. It also helps clear the mind and
calm the body.

A) Sticky B) hollow C) natural D) negative

We followed the road to the nearest gas station when our gas was running low.

A) pipe B) fever C) danger D) sign

She felt when her computer froze right in the middle of an important task.

A) pleased B) amused C) annoyed D) relieved

Many people from the earthquake area stayed in temporary in an elementary school gym.
A) vehicles B) shelters C) monitors D) identities

The ghost stories told around the campfire were enough to even the bravest campers.

A) scare B) recover C) greet D) increase

My little brother is of tying his shoes, but he likes having everyone else do it for him.

A) capable B) innocent C) typical D) logical

As a photographer, I would avoid using my camera in the heavy rain.

A) normally B) awfully C) randomly D) finally

The talent show at the school showcases the students' abilities and promotes healthy

A) background B) competition C) position D) recipe

The traditions we follow today were passed down from our through many generations.
A) volunteers B) victims C) ancestors D) passengers

The city plans to more streetlights to improve safety during nighttime hours.

A) remove B) impress C) install D) ban

The company’s new marketing focuses on social media platforms to reach a broader and
younger audience.

A) usage B) rate C) battery D) strategy

The health center provided to prevent the spread of infection in public places and
workplaces.

A) roles B) guidelines C) injuries D) comforts

Their victory parade through the streets was a great celebration of unity, , and achievement.
A) process B) triumph C) fate D) crisis

The distance from the airport to the hotel is 15 kilometers, so it is a short drive.

A) annually B) hopefully C) roughly D) shortly

Seeking social support from friends and family can make it easier to difficult times.

A) cope with B) think of C) give out D) look up
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Most people don't like rodents such as mice and squirrels. Interestingly, a lot of people like
capybaras, the world’s largest rodents that weigh 35 to 66 kilograms. Capybaras live near lakes and
rivers. They are a highly social 16 and live in groups of 10 to 20. They 17  feed on grass and
freshwater plants.

Capybaras are excellent swimmers. They can hold their breath underwater for 18  five
minutes at a time. Besides, they can sleep in water with their noses 19 the surface for breathing.
On land, capybaras can run at 35 kilometers per hour. This speed enable them 20  from many

different kinds of predators in the wild.

16. A) support B) value C) gender D) species

17. A) slightly B) possibly C) lately D) mainly

18. A)nextto B) as much as C)upto D) no more than
19. A) above B) with C) below D) as

20. A) escape B) to escape C) escaping D) to escaping
(ii)

If you are having back and neck pain caused by poor posture, it is important to fix how you sit.
21, it might take you some time to adjust to the right posture. First, sit up straight. Pull your
shoulders back and imagine your head being pulled toward the ceiling. Then imagine pulling your
belly button toward your spine. Maintaining this posture can be challenging 22 . Therefore, you
should try doing simple exercises to 23 muscles.

There are some other tips to keep good posture. When you sit, your back should touch the back
of the chair. Your ankles should be in front of your knees 24  being pushed under the chair. Don’t
cross your legs. Remember to check your posture throughout the day. The more you practice good

posture, the 25 it will become.

21. A) In short B) However C) For example D) Indeed
22. A)athand B) at first C) at all D) at ease
23. A) repair B) strengthen C) tear D) weaken
24. A) more of B) other than C) instead of D) as if
25. A) easier B) less C) shorter D) later
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A) sport B) through C) exciting D) too E) grown

Standup paddle boarding (SUP) is a popular water activity. Participants stand on a board and
use a paddle tomove 26  the water. The modern version of SUP originated in Hawaii in the 1940s.
John An Choy was a local surfer who was 27 old to surf, so he started standing on his board and
using a paddle. SUP is anideal 28  for people of all ages and fitness level. It provides a full-body
workout, engaging the core, arms and legs. Over time, SUP has 29  to new forms. For example,
SUP touring is a safe and 30 way to explore nature. For those who love inner peace, SUP yoga

brings a whole new layer of joy.

(i)

A) with B) timing C) reusable D) how E) part

Gift giving can be tricky, especially when different cultures are at play. It’s like a dance — both
the giver and receiver must know the 31  and gestures if they want to avoid stepping on each
other’s toe. One 32 of dance is the use of hands. In India and the Middle East, the left hand is
thought to be unclean, so use your right hand to give and receive gifts. People in China, Thailand and
Vietnam offer and accept gifts 33 both hands. Besides, 34 to wrap gift correctly varies from
culture to culture. In Japan and Korea, 35  cloths are used while leaves and handmade paper are

used in many African cultures.

o BRI FHETEN - BERFENFERFEIALS KX 154)

The Coachella Festival is one of the world’s largest events for music, art, and fashion. It started
in October 1999 as a two-day event centering on popular alternative rock bands. Around 25,000
people joined, but the organizers failed to make money. However, they took a year off and came back
as a one-day event in 2001 with huge success.

Hosted every year in Indio, California, Coachella was originally held in October. The weather
was still too hot and thus the dates were changed to April in 2001. Today, ticket prices have increased
and the festival has become a large event over two weekends.

The festival is celebrated for its diverse and eclectic musical acts. It has introduced new genres
of music from rock to hip-hop to EDM. In addition to music, artists display their visual artworks and
fashion lovers get to show their unique dressing style.

From a small alternative rock festival to a big cultural event, Coachella draws people from all
over the world. As it continues to evolve and innovate, it will surely remain one of the most significant
music festivals in the world.
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36. Besides music, what features are also important at Coachella?
A) Literature and dressing styles.
B) Fashion and visual arts.
C) Sports events and art pieces.
D) Dance and theater performances.
37. Why were the event dates changed from October to April?
A) To raise the ticket prices.
B) To welcome more artists.
C) Because April is a more popular festival month.
D) Because the weather was really hot in October.
38. How did the Coachella Festival in 2001 change after its first event in 1999?
A) It was a single-day event.
B) It became a cultural practice.
C) It became smaller and less popular.
D) It was free for all the music and art fans.
39. Which of the following is TRUE about Coachella?
A) It is a yearly event for over twenty years.
B) The first event was a great success.
C) It was once canceled due to the weather.
D) It is now a three-day event.
40. What does the passage suggest about the future of the Coachella Festival?
A) It will remain a major music festival.
B) It will take place in a new location.
C) It will just feature popular rock music.

D) It is likely to stop evolving.
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